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QUESTION 1
ANALYZE phase ?includes:

A. Identify Vital Project X\\'s and

https://lwww.geekcert.com/clssyb.html
2024 Latest geekcert CLSSYB PDF and VCE dumps Download

statistically validate them

B. Communicate and sign off to close Project

C. Generate Potential Solutions and Assess Failure Mode

D. all of the above
E. none of the above

Correct Answer: A

QUESTION 2

Which statement(s) are true about the Fitted Line Plot shown here?
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A. When Reactant increases, the Energy Consumed increases.

B. The predicted output Y is close to -18 when the Reactant level is set to 6.

C. Over 85 % of the variation of the Energy Consumed is explained by the Reactant via this Linear Regression.

D. Both b and ¢

Correct Answer: D
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QUESTION 3

Sally and Sara sell flower pots at their garage sale. Martha motivates Rose mentioning that they will sell a minimum of
16 pots per day if the outside temperature exceeds 60?F. From a sample, whose population is assumed to follow a
Normal Distribution, taken for 30 days at 60 degrees or more an average of 15.2 pots per day were sold with a Standard
Deviation of 0.6 pots. What is the Z value for this sales process?

A.0.67

B.1.13

C. 133

D. 2.66

Correct Answer: C

QUESTION 4

A Belt gathered the following defect data for a polyurethane production line and wanted to assemble it into a Pareto
Chart. The correct order from left to right in the chart would be:

Data: Trimming 37 Forming 61 Packaging 29 Sealing 5
A. Trimming, Packaging, Sealing, Forming
B. Packaging, Trimming, Sealing, Forming
C. Sealing, Forming, Trimming, Packaging
D. Forming, Sealing, Trimming, Packaging

Correct Answer: D

QUESTION 5

Which of the following is NOT an advantage of using a median?

A. Extreme values do not affect the median as strongly as they affect Mean
B. A median can be calculated for qualitative descriptions

C. Median is easy to understand

D. Median can be calculated even for open-ended classes

Correct Answer: D
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